ML Meguro Language Center

JLPT N4 Kanji Quiz — 05/34 Answer
11 R&E B2 kD 3<I2 HELET,

(1) R 13 2 1Idix 3 bk 4 b5

(2) IRk 2 1Ibix 3 bbb 4 b5

(3) Hi% 1 LwiE-> 2 LwoliE> 3 LwiiE»o 4 LoE»
M2 [ESN KFIZ ADDOEF 7mn~AEE BugEd,

(1) HEiz 1 <izv> 2 Z<v> 3 Kb 4 ZL7EW
(2) K% 1 720 2 FWnIH 3 2K 4 CAHKL
(3) kT 1 MDET 2 WVWWET 3 OhWNET 4 BHLWET
fil 3 BIoRRAIE ZHKH TERDT, SABIEIZ AVELL,

(1) Brofgh 1 k& 2 k% 3 BE& 4 5%

(2) ZnK 1 Gh% 2 FRE 3 AR 4 FERL

(3) BANBKES 1 SR 2 R 3 NFEH 4 REH
M4 BLZOZEHIET F0Llw) HHIC [ToTWELE,

(1) BLZDZ 1 &DF 2 LT 3 BT 4 ZDFT
(2) FWLwd 1 5 iH 2 WpiE 3 f5iH 4 fgiE

(3) 2% 1 i 2 3 4 g
s Zo &bl FTne ZxFLl,

(1) &5 1 4 2 HTF 3 i 4 F i

2) T RS 2 FW 3 Mg\ 4

(3) xxFL= 1 &EFELE

\]

BEEL 3 FAEFELE 4 H&EFELE



